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*i)-iQRV 3 *$z % *5% - (
*E/ -E126 25 *":o * *5$ = (
1DJ\ *p]D *\R]R

1$*< *e=$ *<2=21e 3 *$z % *5$ = (
1DJ\ /DIRVQp

.$66%, -T=6Q 3 *$z % *5$ = (
.$66%, -1T=6Q) 3 Sl ) *5% - (
1DJ\ 1RpPL

1$*<0,./T6 (59,1 3 wmoox *5% - (
1$*<0,./T6 (59,11e 3 *$z * *5$ = (
1DJ\ 7DPiV 6iQG

1$*< (1,-2 3 *$:z % *5%: (
6$69E5, $77,/$ 3 *$:- % *5% = (
%$57.TO(/,1"$ 3 * o ox *5$ = (
1DJ\ 7DPiV 6iQG

71&6 )RNRQI . Ii 3 8130* 81,21
1DJ\ 7LERU

1$*< 7,%25 3 *$:- )™ *5%:(
.,66 /E6=/T 3 wmoox *5% - (
1$*< 7,%25 .25 *$:- * *5%:(
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1DJ\ -DPSHU Up
.E7$,1e -E9256=_< %(E7$ * 3 *$:- % *5% = (

1DJI\Qp +RIHUND
1$*< /E6=/T 3 *$: % *5% 2 (
1$*< 7$0$5% 3 *$: % *5%: (

1DI\Qp -RYiFV
*E%25-E_ 7,%25 3 *Bz % *5%: (

1DJ\Qp -RYiFV O

9$5*$ 6E1" 25 3 *$z % *5% 2 (
6=$%1 O,./T6 3 *$z x *5% - (
6=$%1 0,./16 3 *$z * *5% 2 (
62716 " E1$ 3 xroox *5% - (

1pPHIK ,PUpQp

1e0(7+=62/7 3 *TI % *5%: (
1e0(7+ ,05ele 3 *To % *5%:(
1e0(7+ ,05ele 3 *$- % *5%: (
1pPHIK VIYiQQp

717+ 6$52/7% 3 T % *5%: (
gPE |l $QID)

(526 0%$*"2/1% 3 *$z % *5%: (
$PUHLQQp ~U *i0 _IDXGLD 3 *$z % *5%: (
2VI\iQL /DIRVQp

26*<E1, $1,7$ 3 *T- % *5%:(
3DIDJL -y]VHI

9$5-0 9(521,.% $(  *T=z o+ *5% = (
9$5-0 9(521,.$ $C  *$: > *5%: (
3iQFpIRV OilID

6=C%(1, (5=6e%(7 3 *$z % *5%: (
3E1&e/26 OE5,$ 3 *$- * *5%:(
3DSS -XIbQQD

3%$33 -8/,$11% 3 *$:- % *5%:(
3DV]LQJIHU - DID)

ODJ\DU &XNRUI\illy pV YRU 3 8130* 81,21
EXGPLW . I 3 8130* 81,21
,06 &RQQHFIRU B\VIHPV _ I $C $(&P) $(*21
,06 &RQQHFIRU B\VIHPV _ I 3 $(&$) $(*21
CWHU Qi JthaV W $(C $(&S) $C21
(UHU QI JthaV W 3 $(&P) $C21
"<1$0,8& 7(&+12/2*,(6 +81* $C $(&P) $(*21
"<1$0,& 7(&+12/2* (6 +81* 3 $(&$) $(*21
"R &RPSNHU I $(C $(&S) $C21
*RI &RPSNHU _ i 3 $(&$) $(*21
SRIKXUWVINL $QGU

YIRULQ =Uf 3 5%z % *5%: (
12/$72 ODI\DUIRWV]iJ -1 3 56 % *5%:(
12/%$72 ODI\DURWV]iJ -l 3 56 % *5%: (
_$OE= i 3 56 % *5%:(
$EURQFV _HUHVNHGRKi] - i 3 56 % *5%: (
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$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
$EURQFV - HUHVNHGRKi] - Ii 3 5%: % *5% = (
5iF] *iERU
6=75(*29% 3e7(5 3 *$- * *5% = (
5DGiN -y]VHI
5$"E. $1"5E6 3 *$z * *5% = (
5DGYiQVINL 5LID
%(1(" (&=.,1e ) (+e5 51=6% 3 *$= % *5%: (
%(1("(&=.,1e ) (+e5 51=6% 3 *$z % *5$ = (
)(-(6 ,679E11e 3 *$:- % *5% = (
717+ *<g5*<, 3 Fmoox *5%$: (
TH7+ *<g5*<, .25 *=:o * *5% = (
SDGY i QVINL =Rl
*<8586, =2/7El1lle 3 *$z )% *5% = (
/(5(50711,.$ 3 *$z )% *5$ = (
SiN QUPRV
-8%$1(- 0,./T6 *<8/Ele $C  *$- > *5$ = (
SDNLIV VIYiQ
5(%(- $1,.T 3 *$z )* *5$ = (
SRVQHU *\XID -y
5261(5 *<8/$-1=6Q) $C  *$:D * *5$ = (
S5y]VvD ZiV]ly
51T=6$ 5,&+E5" 3 *$z % *5$ = (
6iQID %DUEDUD
-(/(6 /E6=/T1e 3 *$z % *5$ = (
6E17E1e ) (. (7(./~,.T .$7 3 *$- * *5% = (
6iQID OKiN
0,6.2/8&=, /E6=/T 3 *$z )* *5% = (
6iQID 2y
0e6=E526 7,%25 3 *$z )% *5% = (
6DUDPYQp 1pPHIK
6$5$0T1e 1e0(7+ (5=6e%(7 3 *$z )* *5% = (
6FKHIQp 6LPFVL
6&+(// -E126 3 *$- * *5% = (
GFKIHLHU - UV]H
6&+/(,(59(5% =$N(//$ 3 *$z  * *5% = (
6&+/((5 9(5%$ =$%(//$ 3 - *5$ = (
6FKPIGI -y]VHI
=29, *<(/ /E6=/T 3 *$- - *5$ = (
6FKPLGIQp 9DVDI
2%=$ %(77,1% 3 *$z % *5$ = (
6727=1e %(6( $1"5($ 3 *$z % *5% = (
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6727=-T=6Q 3 *$z % *5% = (
%25 " E&6 7$OE6 3 *$z - *5$ = (
GHUIR]R $QlyQLD
0e6=E526 OT1,.$ 672 *":z * *5$ = (
0e6=E526 OT1,.$ 672 *$:z * *5% = (
0e6=E526 OT1,.$ 3 * o ox *5$ = (
0e6=E526 OT1,.$ 3 *$z * *5% = (
6LPRQQp ,IRQND
6=(*2-1=6(Q1le 3 *$z % *5% = (
6=(*2-1=6Q1e 3 *$z % *5$ = (
6,0211e ,/21.$ (5=6e%(7 3 *$z * *5% = (
6PXID *\]QJ\L (
+$9$1&6E. OT1,.$ (5,.$ 3 *$- * *5% = (
+$9$1&6E. OT1,.$ (5,.$ 3 *$z * *5$ = (
+$9$1&6E. OT1,.$ (5,.$ 3 *$- * *5% = (
%E1)$/9,/,1"$ 3 *$z * *5$ = (
6RIAPRVL eYD
*(0.T7h1"( OE5$ 3 *$z )" *5$ = (
-RYiFV *\XID 3 *$z * *5% = (
6RPRI\L *\ JUJ\
6202*<, *<g5*< 3 *$z % *5% = (
6RPRI\L =\ JUI\
1$*< 7,%25 3 *$z  * *5% = (
6IH.QQp *RGy EJ
67(,11e *2"T E*1(6 *<gl*< 3 *$- )* *5% = (
GIURETQ *DEUH)
0%$.6% 7,%251e 3 *$- * *5%: (
BIXFKIN ZiV]ly
.26=21,&6 7,%25 3 *$z % *5% = (
1$*<le /E=E5 *<g5*<, 3 *$z * *5$ = (
%(5.,)(5(1& 3 *$z  * *5% = (
6X1iQ ZiV]ly
68/E1 /E6=/T 3 *$z )% *5% = (
6 IRQp -RYiJy O
6h721e .29E*T 0$5*,7 3 *$- * *5% = (
6h72 /E6=/T $C  *$- ¢ *5$ = (
-RYiJy )HUHQF $C *TD * *5% = (
6]DEy ,PUpQp
6=3%1 ,05ele 3 *$z % *5%:-(
6]DEy .RYiFV -i
+$57)$50 .)7 $C 5%z * *5% = (
*<$),; )7 $C (&) $(*21
*<$),; )7 3 $(&$) $(*21
+$57)$50 .)7 $C $(&P) $C<21
+$57)$50 )7 3 $(&%) $(*21
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$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
6]DEy OillD
,06 &RQQHFIRU 6\VIHPV _ i 3 8130* 81,21
,06 &RQQHFIRU B\VIHPV . I $C $(&P) $(*21
,06 &RQQHFIRU 6\VIHPV _ i 3 $(&$) $(*21
"<1$0,& 7(&+12/2*,(6 +81* $C $(&P) $(*21
"<1$0,& 7(&+12/2*,(6 +81* 3 $(&$) $(*21
6]DEy =RliQ
%21 *$%5,(//$ 3 *$z )* *5$ = (
%, (5%$80 $1(77 $C  *$: )™ *5% = (
%, (5%$80 %$/E=6 $C  *$:- )* *5$ = (
6]DEy %XGDL =VX
%8~ $,1e %85-E1 O$5*,7 3 *$z - *5$ = (
6]DEy .RYiFV -i
+2*<e6=, $*52.e€0,$, .)7 3 8130* 81,21
*<$),; )7 $C $(&P) $(*21
*<$),; )7 3 $(&$) $(*21
+$57)$50 .)7 $C $(&P) $(*21
+$57)$50 .)7 3 $(&$) $(*21
CIHU QUi JtiV -1 $C $(&P) $(*21
QOIHU QUi ItV . 3 $(&$) $(*21
6]DIDL *iERU
ODJ\DU &XNRUI\iUly pV )RU 3 8130* 81,21
EXGPU - Il 3 8130* 81,21
$IRKD ,QIRUPDILNDL . Ii 3 8130* 81,21
Rl &RPSNHU . I $C $(&P) $(*21
"Rl &RPSNHU _ Ii 3 $(&$) $(*21
6]DIDL 7LERU ,V
6=%$/$, 7,.%25 ,679E11le 3 *$z % *5$ = (
6]HGPIN /ZiV]ly
0258&6E1<,,05( 3 o % *5$ = (
6]HNpU =VRII
9(7e6,9,.725 3 *$z )% *5$ = (
.(5e.*<E57T1 /E6=/T $C  $(%63RIIK $(*21
. (5e.*<E57T /E6=/T 3 $(%63RIIK $(*21
.(5e.*<E57T1 /E6=/T $C  $(%63RIll $(*21
. (5e.*<E57T1 /E6=/T 3 $(%63RII $(*21
.(5e.*<E57T1 /E6=/T $C  $(%63RIll $(*21
.(5e.*<E57T /E6=/T 3 $(%63RII $(*21
.(5e.*<E57T1 /E6=/T $C  S(%63RIN $(*21
.(5e.*<E57T /E6=/T 3 $(%63RII $(*21
6]HNpU =VRIIQp
5*Tle *$77<E1 $1"5($ 3 *$z % *5$ = (
6]HNHUHV OyQIND
6]HNHUHV 6iQGRIQp $C  *$- ¢ *5$ = (
ODJ\DU VIYiQ $C  *B:- ¢ *5% = (
6]HPHIL 2D
" (75(=68=6$11% 3 *$z * *5% = (
L1TOGAs 3 xToox *5$ = (
1O GAs .25 *To o* *5% = (
6]HPHIL 6iQGRU
)$5.$6 /E6=/T 3e7(5 3 *$z )* *5% = (
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$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
17O GA& 3 *Tmoox *5% = (
., 1"ele *E/), *<g1*<9e5 3 *mzox *5$ = (
6]XFVQp %IDKy (
6=8&61e %W/$+T1 (5,.$ (5=6e 3 *$z )" *5$ = (
7DNiFV (Gl $QQ
6=85*(17 O,+E/< 3 *$z % *5$ = (
72/13%, (5,.$ (5=6e%(7 3 *$z % *5% = (
) (+e59E5, 6E1"25 3 *$z % *5%: (
5E&= OE5721 3 *$:- % *5% = (
03$-25 (5=6e%(7 3 o % *5$ = (
6=e.E&6 $1~5($ 0$5*,7 3 wwoo *5% = (
6=e.E&6 6=,"T1,$$11$ 3 wwoov *5$ = (
7DNiFV 3plHU
7$.E&6 3e7(5 $C  *Tz * *5$ = (
7DWy +DIQDIND
/RYDV (Gl $C  *Tz * *5$ = (
7DWRI /iV]ly
=20%25 *$%5,(//$ 3 *$z % *5$ = (
=20%25 ,679E1 3 *$:- % *5% = (
1$*<1e 3$33 (5=6e%(7 3 *$z % *5$ = (
1$*< /25E1" 3 *$:- % *5% = (
THEHUIQp B6RPID
6=3%1 =2/7E1 3 Ty *5% = (
7(%(571e 620/%, (5,-$ 3 *$z )% *5$ = (
THIHN =RIIiQQp
%(57$/$1 .E52/<1le 3 *$z % *5%: (
%(57$/$1 .E52/<le 3 *$:- % *5% = (
THUFVL /iV]ly
037 GHFXWN =Ul 3 5%z % *5% = (
THUFVL ZiV]ly O
ODJ\DU &XNRUI\ iUty pV )RU 3 8130* 81,21
6DQGYIN ODJI\DURW]iJ .1 3 8130* 81,21
,06 &RQQHFIRU B\VIHPV . I 3 8130* 81,21
$IRKD ,QIRUPDILNDL . I 3 8130* 81,21
326=716 =68=6$11% 3 *$z )% *5% = (
%e.( 6E1"25 3 *$z )% *5$ = (
%e.ele &=,%(5( E*1(6 3 *$z )% *5% = (
"52(7.( .)7 3 5%: % *5$ = (
S$EURQFV - HUHVNHGRKi] - Ii 3 5%: % *5% = (
EXGPU . I 3 8130* 81,21
276=* .)7 $C $(&P) $(*21
276=* .)7 3 $(&$) $(*21
"<1$0,& 7(&+12/2*,(6 +81* $C $(&P) $(*21
"<1$0,& 7(&+12/2*,(6 +81* 3 $(&$) $(*21
*RI &RPSNHU . I $C $(&P) $(*21
"Rl &RPSNHU _ Ii 3 $(&$) $(*21
7yND (UIND
6]JWiNL -y]VHIQp 3 *$:- x> *5%:(
6]WiNL -y]VHIQp 3 *$:- * *5%: (
7RPDQ ,IRQD
67(,11e *2"T E*1(6 *<gl*< 3 *$z )% *5% = (
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$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
7JURVY iUl =VRIN
795&69ES5, =62/7 ,679E1 3 *$z % *5%: (
%E*<, =2/7E1 3 wmoox *5% = (
7]UIN CUND
129E. 5T%(57 3 *$:- % *5% = (
129E. 5T%(57 3 o % *5$ = (
%(//$ 7F0($ 3 *$z % *5% = (
7ylIK SyEHUI *\]
.2&6<6=,/9,$ 3 *$z % *5% = (
9E5+(/<, 7,%25 3 *$z % *5$ = (
.26=T %(1&( $1-5E6 3 *$z )% *5% = (
7ylK 610YLD
=0 .l 3 5%: % *5% = (
,06 &RQQHFIRU 6\VIHPV _ i 3 8130* 81,21
*5e&=, (0,/ 3 815,6 81,21
+RILGD\ 3DUN\ 6HUYLFH _ Ii 3 815,6 81,21
,06 &RQQHFIRU 6\VIHPV _ i $C (&P $(*21
,06 &RQQHFIRU 6\VIHPV _ i 3 $(&$) $(*21
7yIK 9HURQIND
/(03(/ -E1261e .25 *$- * *5$ = (
/(03(/ -E126 .25 *$:- * *5% = (
707+ 9(521,.% 3 *$z * *5$ = (
.T&=E1 "21E7 $C  *$- * *5% = (
7ylIKQp %DJy =VX
5e.$6, .E52/< 3 *$z % *5$5:- (
S5e.$6, .E52/< 3 o % *5%: (
70i7+1e *<(79%, ./E5% -8/, 3 *$:- % *5% - (
7yIKQp 7ULSDN =
+DIDVSDFN %l 3 5%: % *5% = (
8YDFVHN &VDED
)$5.$6 &6$%$ 3 *$z )% *5% = (
9DGDL OilID ,1G
9$°$,0E5,$ ,/°,.T 3 *$z )% *5% = (
. 717+ ,05( 3 *$:- )* *5$ = (
/DF]IN = pQHV ,PUH 3 *$z  * *5% = (
w(==C*, -T=6Q 3 *$- * *5$ = (
9iJy -iQRV *\R]
3E/<, 3e7(5 =2/7E1 3 *$z )* *5%: (
9iJy -i1QRVQp
9E*T -E1261e 3 *$z % *5%: (
9E*T .$7$/,1 3 *$z % *5% = (
9E*T .$7%/,1 3 *$z % *5$ = (
*E/), =,7$ 3 *$z )% *5%: (
6=(17(6 *E%25 3 xoo" *5$ = (
3E/<, 3e7(5 =2/7E1 3 wmoox *5% = (
3E/<, 3e7(5 =2/7E1 3 *$o * *5%: (
9iJy .DIDIQ
3E/<, 3e7(5 =2/7E1 3 *$z )* *5%: (
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$iQV] . IGIS 6]HU]EGE (J\VpJ  7ISXV  7DUID  7DUIDP  %L]W iV -XIDIpN
9DUID -iQRV Vi
&68"$<le .23%7%., ("7 3 *$z * *5% = (
&68"$< 7,%25 3 *$z * *5$ = (
9$5*$ -E126 ,679E1 3 *$z * *5% = (
&68"$<le .23%7%., ("7 3 *$z )* *5$ = (
6=%$/$, .5,6=7,E1 =62/7 3 wmoox *5% = (
/(1e9s 3 *$z )* *5$ = (
9$5*$ -E126 ,679E1 3 *$z * *5% = (
+259E7+ .$7$/,1 3 *$z )* *5$ = (
9DUIDVIQp 6]DID
3E/), ,679E1 3 *$o * *5%:(
3(5+E&6 (6=7(5 *$%5,(//$ 3 *$z * *5% = (
9DV %pID =Rl
7ylK 61QGRU 3 *$z * *5% = (
9DV *iERU
OE/1E6, 6=E6= 0<57,// 0$5 3 *$z )" *5% = (
6=%$%1 -8",7 OE57$ 3 * o ox *5$ = (
9$66 *E%25 $C  *T:z * *5% = (
9DV 6]UYID
.DSRVYilL 9DI\RQNHTHIR = 3 5%: % *5% = (
“U 2HINHU . Il -iQRVVRPR 3 5$: * *5$ = (
9QHUHFNHL =RIiQ
&8.255e3% 7(50(6=72. 256= 3 * o ox *5$ = (
9HUHV %ULILID
9(5(6 %5,*,77$ 3 *$:- $ *5$ = (
/(. =2/7E1 &63%3$ 3 *$:- % *5% = (
9(5(6 W(57$/$1 3 *$z % *5$ = (
9HUHVV *DV]QHU
675T%/ ,679E1 3 *$z % *5$ = (
+$79%1, $77./% 3 *$z )% *5%: (
1<(95,.(/ 5%-081" 3 *$z * *5$ = (
9LQF]H -y]VHIQp
%/ (6= /E6=/T 3 *$z % *5$ = (
3$<(51le .2=0% 9% 3 *$z D)% *5%: (
-81.81&==2/7E1 3 *$z - *5$ = (
.(51-E126 3 *$- * *5% = (
6=3%1 -E1261e 3 *Ho * *5%:-(
)$5.$6 *$%5,(//$ ./E5S$ 3 *$z * *5% = (
)$5.$6 *$%5,(//$ ./E5$ 3 *$z * *5$ = (
.29E5, ,05( 3 *$z  * *5% = (
7$.E&6 5(1E7$ 3 *$z * *5$ = (
=6E.le %(5el<, /",.T)5 $C  $(%63RIK $(*21
,=6E.1e %(5el<, /",.T)5 3 $(%63RIIK $(*21
$PEUXV -y]VHIQp $C  $(%63RIK $(*21
$PEUXV -y]VHIQp 3 $(%UB63RIIK $(*21
=6E.le %(5el<, /",.T)5 $C  $(%63RIK $(*21
,=6E.1e %(5el<, /",.T)5 3 $(%63RIIK $(*21
.e3/,-E1261e 3 *$z  * *5$5:- (
.e3/,-E1261e 3 *$z * *5$ = (
%2°T .$7$/,1 3 *$z  * *5% = (
%2°T .$7$/,1 3 *$z * *5$ = (
7$.E&6 /E6=/T1le 3 *$- * *5% = (
+$/E6=)(5(1& $C  *$- > *5$ = (
“(E. &6,//3% $C  *$: )™ *5% = (
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OLQF]H -y]VHIQp

3e5,)(5(1&1le 3 *$: % *5$ = (
&VDSy \VIYiQQp 3 *To % *5%: (
%(1l&=ele -811(5 .$7%$/,1 3 *$: % *5$ = (
9UDQD ,(GINy
6($/(" $5 .)7 $C B $C*21
6($/(" $5 .)7 3 $(&$) $(*21
=DJ\YD =RUiQ
*<$50%$7,1e 6E17$ 0$5*,7 3 Tz % *5% = (
*<$50%$7, *<8/$ 3 o % *5$ = (
=DJ\YD =RWiQQp
)$5.$61e &6(+ (6=7(5 3 *$: % *5$ = (
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